
A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

© 2024 CommScope, Inc. Confidential
NOTICE: These drawings and specifications are the proprietary property of COMMSCOPE, INC.
and may be used only for the specific purpose authorized in writing by COMMSCOPE, INC.

FINISH MATERIAL

TITLEDRAFTER

CHECKER

ENGINEER DOCUMENT NO.

SHEET

SIZE SCALE

TOLERANCES SAP MATERIAL MASTER

SAP-ENTERPRISE-A2-2016-3RD.FRM

COMMSCOPE, INC.

N/A

SY
MB

OL
OG

Y 
AG

RE
ES

 W
IT

H 
AS

ME
Y1

4.
5M

 -
 2

00
9.

  
AL

L 
SH

EE
TS

 
AR

E 
TH

E 
SA

ME
 R

EV
IS

IO
N 

AN
D 

ST
AT

US
.

A2 0.350 300100115179
CMO

ALL SURFACES MODEL DRAWING

1 OF 3VERSION STATUS REVISION VERSION STATUS REVISION

02

SCALE  0.700

N/A SEE BOM

OSCAR VALENZUELA

INSTL, KIT, 4FT, 4X4 TO DUAL 2X2, FLEXV
MIGUEL MUÑOZ

RUBEN ARVILLA

40171866CMO

WORK AREA: ISPF

02 RE E

 REF2.54

 REF3.00

 REF2.64

KIT CONTAINS

ITEM DESCRIPTION QUANTITY

001 TROUGH, 2X2 32 (8 FT)

002 STRAP, TROUGH 36

003 TROUGH, UNIV, 2X2 2

004 JUNCTION, 2X2 2

005 ADPTR, 4X4 TO DUAL 2X2 1

006 JUNCTION, 4X4 1

100 SCREW, PAN HEAD, #12-24 X .75 8

101 SCREW, HEX HEAD, #12-24 X .75 8

102 WASHER, FLAT, #12 8

103 NUT, #12-24 8

FGS STRAIGHT SECTION
(NOT INCLUDED)

FGS EXPRESS EXIT
(NOT INCLUDED)

2X2 TROUGH DIMENSIONS

001

002COVER STRAP OPENS
FROM EITHER SIDE

REVISIONS

REV CMO DATE APPROVED

D 40079640CMO 28-DEC-2018 ODVL

E 40171866CMO 23-AUG-2023 MAM

 FGSB-FLEXV-4F-A2C BLACK

 FGS-FLEXV-4F-A2C YELLOW

CATALOG NUMBER  COLOR



A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

TITLE

DOCUMENT NO.

SHEET

SIZE SCALE

© 2024 CommScope, Inc. Confidential
NOTICE: These drawings and specifications are the proprietary property of COMMSCOPE, INC.
and may be used only for the specific purpose authorized in writing by COMMSCOPE, INC.

SAP-ENTERPRISE-A2-2016-3RD.FRM

COMMSCOPE, INC.

INSTL, KIT, 4FT, 4X4 TO DUAL 2X2, FLEXV

A2 0.320 300100115179
DRAWING

2 OF 3VERSION STATUS REVISION

02 RE E

 REF8.97

 30�$� MAX
LEFT/RIGHT

OR FRONT/BACK

INSTALLATION INSTRUCTIONS:
 
1  ASSEMBLE ITEM 006 (4X4 JUNCTION) TO EXISTING 4X4 FITTING.
 
2   ASSEMBLE ITEM 005 (4X4 TO DUAL 2X2 ADPATER) TO ITEM 006.
 
3  ASSEMBLE ITEM 004 (2X2 JUNCTIONS) TO ITEM 005.
 
4  ASSEMBLE BALL HALF OF ITEM 003 (2X2 UNIV TROUGH) TO ITEM 004.
   SEE DETAIL A, SHEET 3.
 
5  ASSEMBLE SECTIONS OF ITEM 001 (2X2 TROUGH) TO ACHIEVE REQUIRED LENGTH.
   SEE DETAIL B, SHEET 3.
 
6  SELECT TROUGH END PIECE REQUIRED AND ATTACH TO TROUGH ASSEMBLY,
   SEE DETAIL C, SHEET 3.
 
7. ATTACH TROUGH END PIECE TO FRAME OR BRACKET USING HARDWARE PROVIDED,
   SEE DETAIL D, SHEET 3.

5  SEE DETAIL B

006

005

004

003

001

002

1

2

3

4  SEE DETAIL A

6



A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

TITLE

DOCUMENT NO.

SHEET

SIZE SCALE

© 2024 CommScope, Inc. Confidential
NOTICE: These drawings and specifications are the proprietary property of COMMSCOPE, INC.
and may be used only for the specific purpose authorized in writing by COMMSCOPE, INC.

SAP-ENTERPRISE-A2-2016-3RD.FRM

COMMSCOPE, INC.

INSTL, KIT, 4FT, 4X4 TO DUAL 2X2, FLEXV

A2 1.000 300100115179
DRAWING

3 OF 3VERSION STATUS REVISION

02 RE E

DETAIL B
TROUGH ASSEMBLY

INSERT BALL INTO SOCKET
UNTIL FULLY SEATED

DETAIL A
UNIVERSAL TOUGH SPLIT

CUT TOP TABS
ON BOTH SIDES

BEND TROUGH IN MIDDLE
TO BREAK BOTTOM TABS

BALL END

SOCKET END

ALIGN BALL AND SOCKET
ON TROUGH PIECES

SOCKET END BALL END

001

DETAIL C
TROUGH END OPTIONS

OPTION 1
2X2 TROUGH

(USED IF CONNECTING TO
FLEX VERTICAL TROUGH KIT)

003SEE DETAIL A

OPTION 2
2X2 UNIVERSAL TROUGH - SOCKET END
(USED IF CONNECTING TO 2X2 SOLID
OR 2X2 SLOTTED VERTICAL DUCT,
FOR USE WITH 2X2 JUNCTION)

OPTION 1
(IF ATTACHING TO BRACKET

WITH #12-24 THREADED HOLE)

100

DETAIL D
HARDWARE INSTALLATION

OPTION 2
(IF ATTACHING TO BRACKET
WITH CLEARANCE HOLE)

101

102

103


	Sheet 1
	Views
	new_view_1
	new_view_8
	left_9


	Sheet 2
	Views
	new_view_3
	new_view_15


	Sheet 3
	Views
	new_view_5
	new_view_6
	new_view_7
	new_view_10
	new_view_11
	new_view_12
	new_view_14



